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5.2 Rankine &=8ta2X

72! 5.2 « Rankine &sH2H

° é)l'EH 4E -é_%% 73,'—%-'5|-03| 7:”)&' AHy 4 = NgAHy 4 Hy = Hy+AHy
. 9o=2




¥4 2404 = Rankine ¢-3H34S o8-8t €Y19] 4= 500°CS} 1.4 Mpa®|t}, &=
0.01 MPa°|c}, E¥19] &2 85%¢°|n Hio| 5282 80%¢°|c}. oha2 A4kt

(a) €810 2J3) 3% A(kI/kg)

(b) xof) o5t o, 428 & 221 I3 58

(c) 1 MW2] & &3S 93l 2a3 +84%

£l
AFe) T(°C) P(MPa) q Hikg) | SakgkK) | Mg
3 500 1.4 supV 3474.8 7.6047
g 45 81 0.01 0,027 2400 2 7.6047
4 45 81 001 0972 2515.8 7.0388
s.satL | 45.81 0.01 0.0 101.8 0.00101
6 compL 193 6
Ay = W's, pump = | VP = VAP
1010 em3(1.4=001) | 1 | K
AH’ - = 1.4 KJ/k
pump kg | em3MPa [ 103] .
WS pump = W's, pump” lc = 14/0.8 = 1.8 ki/kg
W
Ne = —lEr (ﬁ - 02917

0,  \3281.



5.3 Rankine =23 9| +=H

B ole)/aed7]

A7)

721 5.3 « {717 |7} &2EEE Rankine &&=

- MZ7tE7|E O| &t CiEF HEIZ AR
- th+=E = 0 22 & 7t €4 #X = Carnot cyclel|

« O|X| 5.2 XH7}+E 7|7t A=l Rankine =8t&Sd



T2 5.4 « ZESEVIE 9Bt A0 HISMS 2= Rankine 283, ZH4E7IE ¥R c=a)
=
=

7| Yl B E2 x2S

2 AE7

A B
Q 10 IENFEER

ARAD ¢
11 13 15 9
a4 ofl 4 7] S o

J8l 5.5 » HHf S5+ 87|12 MEsks Md Rankine =&E3d



LRI VRIS by

QH * £l AN, 8
* Y

A

10 11

J215.6 + B 234 01| A%t i 234 07| BE A= Alo] MH2tE

ol 5.3

F371(1)7h 28/ 71 258 6 500°C} 5 MPaZ df&€Ect, 349 A==7t 19 5.7
off vkt k. A A ErlojA= 1| MPa sf2¥ (2, 3) 5+ A EHle] 274)= 0.1
MPao|c}, F5< o|A715 °1838t ZF 73} 8 Alolof 5°Co] HI2E=E FAI3HAA A
Bho| ojFojFct, EF 19| &9 A 554 diFt & 292 3l

'1 @lz s

Balg)/mg7|
Q 17

TET
g7

8
38 5.7 » ofx 5.32 {5t xHd Rankine &&&2H



dJ8 5.8 « OVC 4= A0IZ2 ST HREY T-S M=

721 5.9 « HC Yoz AIRE|= p-HM
EH0M EAIE OVC S AOIZ. &Ef H

S=O8 588

H

COP =Q /WS,net Qe = (Hz — Hl)
A X SXIA W, o = AH, = (H; - H,)
= COP = (H, - H,)/(H, = H,) = (H, - H,)/(H, - H,)



dOfMEY Ol A eie Arg

1. EFEY YR R-12c LEE LZA|7|7| Z0 O 0|4 AISE £
Qlom, T2 R-22 YA| EAL Al2tX| 2 JUCL)HFO1234yf7I R134aE
CHAISEZ| Al &FRECE.

2. B7|Y ~ TepgpOllA CHZ| R 20X 22 WOi R0 CiTH +& 30| &40

AtOFX| ZUX[2F &7]7t AIO| 20| FE[= AE UX[ot7] }siA CH7| 2Lt

%7t w2 7|2 &HO0| HiEHE| T},

57|20 ~ TyOM X|LIK| A &=X| QOF ZEAHO| LR X =& IOt

e A 2 SUE

gE7|o| 2451 YE XABE QT B719 R2C./C, !

5712 dHOAM S| =2 EHE A=

o v AW



- SAMEYY]) SUHEL
- HH|(pm/e) 7HHE 2 FR
2Y|0M HiEElE FE2

™
/

L

1424

Hy

l LS
'l/"" =

3% 5.10 = SaAk © Alo] #2



CtTH(cascade) d=
72l 02 2 < CoP7| &

°|'* HI (Pout/Pln)

478571

N 2

FU718%71 )

P
v
o
=
I=
W
-L'_IF_
~
F
L
AN

1 C =
A2

A&

71/2&7I0IM 2 &8

32 5.11 « 23 AMOIZ(2F)1} 3T AOIZ(2EX)2] ds APIZ. dil= 3%

Z|X| S=Ct



5.5 US|

e Linde Y5}
oT

- Joule Thomson A+ (] 7 80| &lof 271 WOIK &

JEHL = O|Sof{OF g

_— — — — — — —

8 - —
[
(@

|

| _

| “Y
E9)4) =4

\

5
=

o WA 6 _ _ _ _ _

a3 5.12 » Linde YetEE H2%. o 5,50 M= 2250 20l= Ale] ZASS AEsit.



Claude U 3}3 ™

o
- HZtEN ZEDH N BATIE A8

o

i/ﬁ
B4 =3 _yf‘ =58
7
8 ‘ﬁ-

a2 5.13 « Claude %3124




